
NOTE: Cover the tank and fender to help 
prevent from scratching.

NOTE: It may also be helpful to have a second
set of hands to help hold the fairing in position
during the last step. 

NOTE: We highly recommend using a 
removable strength thread lock product, such as
Loctite® blue, on the bolts when installing your
fairing.

1. Before removing the headlight, use a level to
determine the angle it is in, so when you reinstall
the headlight, you can put it in the same position
(Figure 1). 

2. Remove the two bolts on the headlight, using
a 10mm and 8mm open wrench (Figure 2).  Rest
the headlight on the fender and discard the bolts
(Figure 3).

3.  Using a 8mm Allen wrench, remove the bolts
on the handlebars (Figure 4).

Part Number: T-TB-9-FAIR
Fitment: 2009-2010 Triumph Thunderbird
Revision: 2

Tools Required Parts List
8mm socket or open wrench
10mm open wrench
7/16” open wrench
3/16” Allen wrench
8mm Allen wrench
4mm Allen wrench
level
Loctite® or similar thread lock. REMOVABLE STRENGTH

FIG 3

FIG 2

FIG 1

1  Corbin top bracket (#A01104)
1  Corbin lower bracket (#A01105)
2  Handlebar spacers (#P11047)
8  6mm flat washers
2  1/4 x 20 nylock nuts
2  1/4 x 20 x 2.5 Allen bolts
4  6 x 16 chrome Allen bolts
4  6mm nylock nuts
4  8mm x 40 x 1.25 chrome Allen bolts
4  3/8” flat washers



4.  Replace the stock spacer with the Corbin
spacer.  (Figure 5).

5.  Rest the handlebars on the tank and remove
the rubber bushings on the triple clamp and set
them aside. 

6.  Place the Corbin bracket on top of the triple
clamp and under the cables (Figure 6).   Put the
rubber bushings back in place (Figure 7).  Place
the handlebars on top of the rubber bushings
and secure with the stock bolts and the longer
Corbin spacer.  Use Loctite® and tighten to 
12 ft. lbs.

7.  Next, you are going to slide the lower bracket
into position where you took out the bolts on the
headlight, making sure the headlight cables are
in between the bracket (Figure 8).

NOTE: You may need to wet the inside of the
bracket to make it easier to slide over the rubber
grommets.

8.  To secure the bracket in place, slide the 
supplied 1/4” x 20 x 2.5” Allen bolts and 6mm flat
washers through the bracket and secure with a
6mm flat washer and 1/4” x 20 nylock nut, using
a 3/16” Allen wrench and 7/16” open wrench
(Figure 9).  Tighten to 8 ft. lbs.

9.  Reinstall the headlight and secure it with the
supplied 6mm x 16 chrome Allen bolts, 6mm flat
washer and 6mm nylock nuts (Figure 10), using
a 4mm  Allen wrench and 10mm open wrench.
Do not tighten yet.

10.  Re-adjust the headlight, then tighten to 
8 ft. lbs.

FIG 4

FIG 5

FIG 6

FIG 7



11.  Install the fairing by securing it with the 
supplied 8mm chrome Allen bolts and 3/8” flat
washers in each of the four positions (Figure 11).
Don’t forget to use Loctite®.

FIG 8

FIG 9

FIG 10

FIG 11

Questions? Give us a holler...

800-223-4332
tech@corbin.com


